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v)

(vi)

(vii)

(viii)

(ix)

31/1/1

The question paper comprises two Sections, A and B. You are

to attempt both the sections.
All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to

be attempted separately.

Question numbers 1 to 3 in Section A are one mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in section B are two-marks

questions based on practical skills. These are to be answered

in brief.
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T -—-A
Section-A

1. Tm=fafed 3@ @ yds o1 e gasde 2 ffau
(i) C,H,
(i) C,H,
Write the next homologue of each of the following :
(i) C,H,

(i) C,H,

2. SHRIGAH o 38 R &1 AW (AR S8l e Y84 o e hicehn
foenfaa gt 2 1
Name the part of Bryophyllum where the buds are produced for

vegetative propagation.

3. QI Tehfceh AT shi et SHTST |

List two natural ecosystems.

4. 37 3 feufaa = Ioorm HifSw ST fordt fora o T W 319 gdon
SR 3ok ATEfId Tfdfers sd & | 39 YR 1 Sldfensi o 7O | &l

ST ol At ST |

State two positions in which a concave mirror produces a
magnified image of a given object. List two differences between

the two images.
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5. Toreht 3fud YR @ TEIfcld STA-9WR TeEH % IR AT sl g

EEIE 2

List four advantages of properly managed watershed management.

6. Tortlt w8 yemwr Y Ieewr Gfea =aren Hifse e o a@ &

ik e 8 99 o1 Ya-9+ Sailcdiash o1 | 2

Explain giving example where active involvement of local people

lead to efficient management of forest.

7. wEudrSt A w1 E 7 A A AR @ " = 2§ 7 Sk o
Torer T[oTt <t Y ST | 3

What are covalent compounds? Why are they different from ionic

compounds? List their three characteristic properties.

8. & udATa Wiz H,SO, #i ufeufd & waiss otva & stfufsran oan 2,
1 93 T4 g6 UeTe 3cqd B © | Al fou ey o sw A 3

(i) Tg 7Y aret A Afiek o Afrent & it § A 2, 3uept AW faRaw |
srfurfsran =1 TR THieuT 3R 99 9T 3T o1 9 TAfgu |

(i) 3@ Afsrishan o @15 H,SO,, *hl YfHeh1 1 Ieeid shifery |
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When ethanol reacts with ethanoic acid in the presence of conc.

H,SO,, a substance with fruity smell is produced. Answer the

following :

(1) State the class of compounds to which the fruity smelling
compounds belong. Write the chemical equation for the reaction

and write the chemical name of the product formed.

(i) State the role of conc. H,SO, in this reaction.

9. hfcHem I3 qcd ¢ fSrEeh! Tt & 20 © | i U e yee w91 1

U Gfed I ifeie -
(i) ohfclam 91g 8 STe@T 319Tg ?

(i) THeht TTATY] oo uRfyem (W] T = 19) ¥ w9 Bl SAeE
3fereh 7

(iii) 39 TTRTEE I T faifaw |

Calcium is an element with atomic number 20. Stating reason
answer each of the following questions :

(1) Is calcium a metal or non-metal?

(i1) Will its atomic radius be larger or smaller than that of potassium

with atomic number 19 ?

(i11) Write the formula of its oxide.
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10. 15 9@ ‘M’ Sae soae fo=ma (2, 8, 2) ®, 9¥% ®9 O ol
(NO,)",(SO,)*” @1 (PO,)>" % |IY HIANT AT & | 38 TR & ol
Rfirert o g1 T | aea M snegfiss ered aweft & form @ ok
AEd H oA ®7 M’ HEgdst AR ST SIeEl SR A
TG ? 379 3T <hl T dfed gfE shife | 3

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO,)",(SO 4)2_ and (PO 4)3_ radicals. Write the

formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’
belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

11. Sfia =92 fires S99 R ST o AT 3TAfieh ST g/ S L, 3!
it X diet g difeal To Taradt § U sl 91 fohd TR o &)

&l ® ? 3UYh ISTEAVT ohl FRTIAT | ST hifwT | 3

How do organisms, whether reproduced asexually or sexually
maintain a constant chromosome number through several

generations? Explain with the help of suitable example.
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12. = 3@ T M TC 9EN A, B 3R C & T 3T Jdeh 1 Ush-Ueh
fofay |

Name the parts A, B and C shown in the following diagram and

state one function of each.

= >

13. AHa SHEE @ FEta @, s fh 99 & wreg o vgfg & fau
awsd B, il HE b T Oy faltet game ) y@w fafa % qm

forgr=a o1 Iooig hifSTT |

Suggest three contraceptive methods to control the size of human

population which is essential for the health and prosperity of a

country. State the basic principle involved in each.

31/1/1 8



14. T & Neli o A1y 7he T Hed & UH TN § IR I e TR T
ST HeX o Y€ W Ore T S[E S U o T HeROT AT T, al
Htd ol weett HiEl, F, H shae ol 1e giEm=R g 3 | 3

(a) 38 TeRUOT § S Il o SI&TOT1 shl o1 BraT & 7

(b) S F, gl o Qe ol SORnTor g s R @ 3 I U
fopan fo @rafa <t gadl Hi€l, E, # SH1 Qafoli- ol 0e 7R s WY
fomrs 3a 8 | o o gem ¢ Hay # e Hifv |

In one of his experiments with pea plants Mendel observed that

when a pure tall pea plant is crossed with a pure dwarf pea plant, in

the first generation, F, only tall plants appear.

(a) What happens to the traits of the dwarf plants in this
case?

(b) When the F, generation plants were self-fertilised, he observed
that in the plants of second generation, F, both tall plants

and dwarf plants were present. Why it happened? Explain
briefly.

15. 3IUIiSid &l TR AT Aeon o s i fasiaenrtt aeqon 1 g=ht
qTfeTeRT o &9 H 15T | 3

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.
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16. = fou 7w 3@ =i, oo 1ader /39 Ul W ahig TRt fohur 31T
AT SMRA TR 7, AT I Yfecrent W T | s TeRtor | g9 foRm
T SUUT § YA oh Y9I oh1 99 ST18U |

S 4
"

Draw the following diagram, in which a ray of light is incident on a
concave/convex mirror, on your answer sheet. Show the path of

this ray, after reflection, in each case.

17. A3 G ThiT RIT Idid BIaT 8 7 1 ohig J&Teh $6 TIEeAT i Jaqur
Fe5HT I off S TRl ¢ 7 T I hl R Aied i hife |

Why does the sun appear reddish early in the morning? Will this
phenomenon be observed by an observer on the moon? Justify your

answer with a reason.

31/1/1 10



18. frAfetfiaa i gfs % for Hror difs:

(a) Tordlt off Sa-mvee | STuseehi / STuaTSIeRT ohi JUTEATd TR © |

(e aN

(b) et SATER T@eAT B SH11-JaTe Ui B2 | 3

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.

19. (a) Gq TESIHIEH TR AT BIESIRIEAT o sftg faded 1 & T
IS T qhE forfau |
(b) T % a1 H T84 B W §94 aTet 3caTal o 19 forfae | 29 At
srfufsran 1 gt gHieRtr faftau o famfea 2R are fafas
YehTL hl FHeliatl ohl S11SU |

(c) T = veprer I Iufedafer & B A FAG o | A
wfereermo stfufsran st aFr ST R ? 5

(a) Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

(b) Name the products formed when ethane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

(c) Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution reaction?
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20. (a) W HIE SHE dF o = f5u T g@e v o6 e faRau

(1) AvSEE

(i) HAIwRE I

(i) ToiE™

(b) =T Sl TLEAT 3 1 o U HIfST |

(a) Write the functions of the following parts in human female

reproductive system :
(1) Ovary
(i1)) Oviduct
(ii1)) Uterus

(b) Describe the structure and function of placenta.

21. S 3g9eH ¥ 1 dTeqd ® ¢ ST 3g9e o ToTU ITGERt 9 shieht sht
Tt TR | 39 W N O SRS o QUi oh 1A 39
T Tk Tel &1 Hehdl ¢ 37T I 3hT hRvT Ffea gig hifse |

What is meant by speciation? List four factors that could lead to
speciation. Which of these cannot be a major factor in the
speciation of a self-pollinating plant species. Give reason to justify

your anSwer.
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22. (a)

(b)

(c)

(a)

31/1/1

et gdon & deof # = fau M wet i afcar fafae

(i) 9o

(i) oRa1 5

(iii) T w1E

(iv) T HIRd

= faw T gdun % qeT wiekd g o fae oo s dif
(i) FId gUur

(i) 3 U

Fro fow U sE W o fifSw | seE M S g9 991 P IS
forar 2, fSreRT gdor gy s Strarfeia gfafsrar Q 2 |

U M o TR o Il shifsg 3T fdfera Q =T whig Ush falRTe
o1 fARaT | 5

Define the following terms in the context of spherical

MIITors :

(1) Pole

(i1) Centre of curvature
(i11) Principal axis

(iv) Principal focus

13 [P.T.O.



(b)

(©)

23. (a)

(b)

(©)

31/1/1

Draw ray diagrams to show the principal focus of a :
(i) Concave mirror

(i1)) Convex mirror

Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of
the image Q.

3dd @9 g fdfers 591 e o o 39 feurfa 8 gerren fereor
wifeu fsaw =i foma oig o JeRTiRmeh s 3R 3doh J&T HIhd o
S feag

SWE TR SR@ § 3fud o Afkd (9meHs (+) e
HUCH () 75 hdig g oRuel & gEr) fam gt () den
idfers gl (v) 3TfeRd shITST | Seci@ AT ok 38 T 4, A it
30 T T BIeRd g (f) § Toret bt aifr 2 |

34 oG i A0ar J1d hINT, S T9 TR heg & 20 cm g W
feorq forehl forear o1 —1 t1ared o1 aedfarer o Ieer wfdfores sATaT 2
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(a)

(b)

(c)

24. (a)

(b)

31/1/1

Draw a ray diagram to show the formation of image by a
convex lens when an object is placed in front of the lens

between its optical centre and principal focus.

In the above ray diagram mark the object-distance (z) and the
image-distance (v) with their proper signs (+ve or — ve as per
the new Cartesian sign convention) and state how these
distances are related to the focal length (f) of the convex lens in

this case.

Find the power of a convex lens which forms a real, and
inverted image of magnification —1 of an object placed at a

distance of 20 cm from its optical centre.

AL 93 o A= o 7u g Wt o1 v fafau
gt afdient, freeefi oia, uemnsft e

TR & foeprasiict 230 & Al Suith SiHaT-Audr 8 difed 8 1 5

SR bl AFEH R YT ShiaT o JIRIY0T/JfeedmT gy 3tk

foRaIT ST TohaT 2 | 37Uk 18T oh Tt GUUeRTd THTST 3 37T TSiY

T 3H) 929 & IR H SIS hd] 39 i & 32 H Teh IIH

A TR B | 9fe g 3w Sfed-agw ° 9 9 % foe ke

SITT, 1 3719 39 o il H fohe Jerm e ot ?

(i) 39 TR o STIITT bl ST hid 1 323 TAfau |

(i) UT o ITATA A9 A1 Sl T A o T IR d THT 119
TN T ST Tqeh ol ¢ UH QT IRl ohl gt SMTST |

(iii) 3 & gt it g S8, S 39 AfwA § fohfd & 9 2,
ST 9 TR oh ST H W okt Hishd TNTeM &d © |

5
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(a)

(b)

Write the function of each of the following parts of human eye :

Cornea; iris; crystalline lens; ciliary muscles

Millions of people of the developing countries of world are
suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?
(i) State the objective of organising such campaigns.

(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11) List two values which are developed in the persons who

actively participate and contribute in such programmes.

HT-d

Section-B

25. 9 fou TU wErei % foRE OYTe™ # IWM WEA sHH % folg
TTe1ehtur- 3T oht i ok ToTe ferarm ST dehaT 2 7

(a)
(b)
(©)
(d)

31/1/1

Ca(OH), 3fI " =1 at
NaOH 3R 1% =1 aa
NaOH TR @< dd
Ca(OH), 3R @i+t aet

16



26.

Which of the following sets of materials can be used for conducting

a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil
(b) NaOH and neem oil

(c) NaOH and mineral oil
(d) Ca(OH), and mineral oil

F1E B 25 mL ¥TiEar it IR wEAeEt P, Q, R 3R S dat T3
A H 10 mL ST S ¥Rl @ | 98 39 WAl 3 =) e S
1 Ueh-Ueh I 39 TR firetmar & — P ® KCl; Q § NaCl; R ® CaCl,

agr S H MgCl, | TeIv=Td 98 Jcdeh TLEHel H A o Torera & T8
TN 2 mL STl © | T T o G810t hl Hell-Hild f&e ®

34 59 Tl § S 31T e il 9ereeT 7, 3 WEH el | -

(a) P3RQ (b) R3S
(c) P,Q3M R (d P,Q3M S

A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl, in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

(@) Pand Q (b) RandS
(c) P,QandR (d P,QandS

31/1/1 17

[P.T.O.



27. TR TR o fowe # it & 18 fevafort w forem Shifsre -

I =9 Afufsramst d o 3coe et @

I 9 & 3y s@eue & fau sifufsn fasor 4 wifesm wiiss
foremn ST

I Grfrertor stfirfsran weh o yerm 3t Sarefiientor stfifsran 2
IV OTeH Tl @ o JE 3Tl oh1 &R Tav §

T4 T fewaforr | -

(2) LIS

(b) IL LTIV
(¢c) LUIIV
(d) FIALIMRIV

Consider the following comments about saponification reactions :
I Heat is evolved in these reactions

IT  For quick precipitation of soap sodium chloride is added to the

reaction mixture

IIT Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(@) I, IIand III

(b) II, III and IV

(c) LLITand IV

(d) OnlyIandIV

31/1/1 18



28. forelt w1 “forelt feefisTostt <ffsT o o1 o fafsrm vt <Y weem e
TRINT <Rl AT 2 | sftsil ok <) T TTe wEl & & 3w ang g 1

(a) W, =M, g

(b) TSHT, Herehl, <1

(c) W, L, TSI

(d) TSHI, "X, <1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat
(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

o

29. frfafed § & S ausTd 3 w1 ag= © 7 1
(a) Heh, ueft 3R foushelt o 3mUe
(b) FFeT o Tk R TTHAIAAT o FHeh
(c) THMEE & U@ R faaehl & 1@
(d) ueft & Tg TR TWIES & U@

Which of the following is a correct set of homologous

organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat

31/1/1 19 [P.T.O.



30. Torelt B 3 JAIRIET I 6 o g TRIR W T wive Sl SaTe
T AIddd U AT ST di1gu Yidafersr foret o8 W, 3Et SO o
# wipd g I FA & faw, g fowan | S meieg 3 3@ s@
T BIRd gl o1 3R 37Tk TEl A ITed i oh foTT SRITSTeT & S
1 km @ o fRet waa 1 ®hid & o1 gema foam | 3 9
T 3 TEY YA Dl BIRGA B b [T W AT AT TAETANG
AT T :

(a) TUUHI UG H P
(b) TG I YT H K
(c) U ol gUUT St AR
(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the

distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/1 20



31. fou Tu 39« <@ it Afeehe ®eRd @, Topdlt gy foma (S|, ®IE 9T

TIE) ol BIehiHd Hih, JTd A & o1 319 39 foreat o1 Ufafons o€ @

T T R JITE Hd 2 | Ie T o1 Sfdferrs geg 2 aiar e -

(a) ®enm R urvd gitafda
(b) T R Bret
(c) 32 IR BI
(d) 3T, I AR B

To determine the approximate focal length of the given convex lens

by focussing a distant object (say, a sign board), you try to focus

the image of the object on a screen. The image you obtain on the

screen is always :

(a) erect and laterally inverted

(b) erect and diminished

(c¢) inverted and diminished

(d) virtual, inverted and diminished

32. foRelt ATIATRR & & TId | T[S aTett JehreT fohtor 1 99 oTifRad
F o e, = < mft HiT i areifies sgeen gea B 7

.

LIS

N

P Q
(a) P
(b) Q
() R
(d S

31/1/1
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Select from the following the best experimental set-up for tracing

the path of a ray of light passing through a rectangular glass slab :

NN

P Q R S
(a) P
(b) Q
() R
(d) S

33. = fou T s w1 TerE i oo foreft B 3 St s (L)),
YA I (Lr), THTa 7 (Le), =0 =01 (LA) e faaed s
(£D) Afeha foru 2 | soH Tt Sifeha T 2 -

(a) AT Li
(b) ZA, Zid Lr
(c) ZA, Zi, Ze § £D

(d) ZA, Zi, Zr 9 /D

31/1/1 22



34.

Study the following figure in which a student has marked the angle
of incidence (Zi), angle of refraction (£r), angle of emergence
(ZLe), angle of prism (£LA) and the angle of deviation (£D). The

correctly marked angles are :

(a) ZAand Zi

(b) ZA, Ziand Zr

(c) LA, Zi, Ze and ZD
(d) LA, Zi, Zr and £D

3 GHY I 1 VU A & 99 AW THIE oA Fl FB 98 39
et | fired € foad s g 2
() TraTeaefem

(ii) ST SiA

(iii) AT o

(iv) At TESISH FEMHE ol

What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(11) distilled water
(i11) universal indicator

(iv) sodium hydrogen carbonate powder

31/1/1 23 [P.T.O.



3S.

36.

Y o TeEved & 39 faRy =ror o1 amifera s Wik e 3gemt
Shr5eh ATeliehd Bl ST & ST ITh! hiRTehT fefeai] H Fehivi giSI=R Bral
2

Draw a labelled diagram to show that particular stage of binary

fission in amoeba in which its nucleus elongates and divide into

two and a constriction appears in its cell membrane.

w1 B fopdll weftaifa e gy foma & wfafers &l 39 o g
foret US WX Bk s 2 | deavend a8 efiR-ofR forer ot o it ST

ST 8, 3 T R 98 o9 ohl THEING Fieh foa & Yfdfons il u¢ W
HIeh b LT 2 |

(i) a8 <" = form foem o Tamaia st 8- Ue sl 3T AYan o 9
Y

(ii) Scfers < WSSt 1 1 BIAT 2~ I8 Al © 311 T T ¢ ¢

(iii) 5o a1 Torat o1 | & STcafersh Mehe o ST 7, a9 Ue W Uidfers &1
FITAIE 7

A student focuses the image of a well illuminated distant object on

a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the

screen by adjusting the lens.

(1) In which direction-towards the screen or away from the screen,
does he move the lens?
(i) What happens to the size of the image-does it decrease or

increase?

(i11) What happens to the image on the screen when he moves the

object very close to the lens?

31/1/1 24
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